Module 1 - Real and Complex Numbers Progress Exam 1

1. Choose the smallest set of Real numbers that the number below belongs to.
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B. Irrational

C. Not a Real number

@ Whole

E. Rational

2. Simplify the expression below and choose the interval the simplification is contained within.
PEMA
4—-14+2%8—(10%13)
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A. [-811, —805] = H=- 3I+8 - Ro MIVIINTSIN

B. [~133,-126
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© [-184,-175) = -8

E. [647,657]

3. Choose the smallest set of Complex numbers that the number below belongs to.
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A. Nonreal Complex PURE
B. Not a Complex Number IMAGINARY
C. Rational
D. Irrational
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4. Simplify the expression below into the form a + bi. Then, choose the intervals that a and b

belong to.
A
(10 — 24)(—9 — 74)
o —"loYy p—|=7L

Z100-9y + 10(-F0) +(=2)(-9) +(-1H(EFD)

A. a€[-92, 87 and b € [7,15] - 40 300 4 0 +fac2
B. ac[-83,—73] and b € [96, —82]

C.ac[-107,-99 and be [48,54] = = A0+ (=FO +18) +(4(-1y
(©) o € [-107,—99] and b € [-54,—49] =-90 =S¢ -14

E. a € |-83,-73] and b € [87,95] = —joM- 520

5. Simplify the expression below into the form a + bi. Then, choose the intervals that a and b

belong to. * COMPLEX CONTUNATE OF -4+ I 1S 4=
54+33i -y_|¢
—44 13 ,q’ I“
a = 7\03F6 b= ~10:94 = (SY+3IN(-49-10)
a 16.6,—14.1] and b € [-7, 3] (-9 +1)E=9-10)

a

A ae[-

B. a €[-185.6,—182] and b € [-18,—8] = FH(-4Yy +(3Y WAL +330(-49Y +(330)=10)
@ a€[-12.1,-9.1] and b € [-18, —8] (-qf—“.f
D. ac€[-
E. ae[-

a 12.1,-9.1] and b € [-190, —183] o

= -k -FYe - 320 =332

13.9,—12.4] and b € [25, 35]
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